#### Scottish Borders Council

#### Transfers Report

This report contains the transfers results.

Contest Name	Ward 4 - Selkirkshire
Valid Votes	4,007
Positions to be Filled	3
Quota	1,002

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Caroline COCHRANE	Independent	1,423
Leagh DOUGLAS	Scottish Conservative and Unionist	1,049
Gordon EDGAR	Independent	217
Barbra HARVIE	Scottish Green Party	222
Scott REDPATH	Scottish Labour Party	223
Elaine THORNTON-NICOL	Scottish National Party (SNP)	873
	Total	4,007

Candidate Caroline COCHRANE Elected with 1,423 votes, being in excess of the quota of 1,002 Candidate Leagh DOUGLAS Elected with 1,049 votes, being in excess of the quota of 1,002

## Transfers Report

This report contains the transfers results.

## Stage 2 - Surplus of Caroline COCHRANE

421.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon EDGAR	315	0.29585	93.19275
Transfer to Barbra HARVIE	149	0.29585	44.08165
Transfer to Scott REDPATH	195	0.29585	57.69075
Transfer to Elaine THORNTON-NICOL	239	0.29585	70.70815
No further preference	525	0.29585	155.32125
Not transferred due to rounding			0.00545
	Total		421.00000

## Transfers Report

This report contains the transfers results.

# Stage 3 - Surplus of Leagh DOUGLAS

47.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon EDGAR	382	0.04480	17.11360
Transfer to Barbra HARVIE	48	0.04480	2.15040
Transfer to Scott REDPATH	135	0.04480	6.04800
Transfer to Elaine THORNTON-NICOL	32	0.04480	1.43360
No further preference	452	0.04480	20.24960
Not transferred due to rounding			0.00480
	Total		47.00000

## Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Barbra HARVIE

268.23205

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon EDGAR	39	1.00000	39.00000
Transfer to Scott REDPATH	40	1.00000	40.00000
Transfer to Elaine THORNTON-NICOL	116	1.00000	116.00000
Transfer to Gordon EDGAR	17	0.29585	5.02945
Transfer to Scott REDPATH	32	0.29585	9.46720
Transfer to Elaine THORNTON-NICOL	40	0.29585	11.83400
Transfer to Gordon EDGAR	8	0.04480	0.35840
Transfer to Scott REDPATH	9	0.04480	0.40320
Transfer to Elaine THORNTON-NICOL	6	0.04480	0.26880
No further preference	27	1.00000	27.00000
No further preference	60	0.29585	17.75100
No further preference	25	0.04480	1.12000
Not transferred due to rounding			0.00000
	Total		268.23205